

PANDIT DEENDAYAL UPADHYAYA SHEKHAWATI UNIVERSITY, SIKAR (RAJ)

वेबसाईट: www.shekhauni.ac.in ई-मेलः reg.shekhauni@gmail.com दूरमाप नं: 01572-232411

No.: GAD/01/2021-22/ 2/088

Date: 16.08.2021

CORRIGENDUM-1

NIT- DEVELOPMENT OF GARDENS AND TREE PLANTATION & MAINTENANCE OF GARDENS AND TREE IN CAMPUS PDUSU, SIKAR 01/2020-21 Dated 10-08-2021

(Last Date & Time of On-Line Submission of Bid is 20.08.2021 upto 1:00 PM)

Percentage BoQ Regarding Contract No- GAD/012021-22/21022 DATED 10.08.2021 uploaded on E-proc inwhich column No. 55 (Total amount in Words) from S.N. 1.01 to 1.26 & 2.01 to 2.11 are Incorrect in words but correct in figures. So the modified price schedule is attached herewith as under rectified column No. 55 inwhich amount in words is as in figures.

Enclosed - Modified Percentage BoQ

Registrar

No.: GAD/01/2021-22/ 2/089 -91

Date: 16.08.2021

Copy forwarded for information and necessary action to:

- 1) VC Secretariat
- 2) Accounts Cell
- 3) Nodal Officer for upload on University Website
- 4) Guard File

Registrar

Tender Inviting Authority: Registrar, PDUSU, Sikar

Name of Work: DEVELOPMENT OF GARDENS and TREE PLANTATION & MAINTENANCE OF GARDENS and TREE IN CAMPUS PDUSU, SIKAR

Contract No: GAD/01/2021-22/21022 DATED 10-08-2021

Name of the

Bidder/ Bidding Firm /

Company:

PRICE SCHEDULE

(This BOQ template must not be modified/replaced by the bidder and the same should be uploaded after filling the relevent columns, else the bidder is liable to be rejected for this tender. Bidders are allowed to enter the Bidder Name and Values only)

THE VIEW OF THE PROPERTY OF TH					and the state of t	
					complete including loading unloading and	1.00
285000.00 INR Two Lakh Eighty Five Thousand Only		142.5	Cum	2000	U.A.F.	
					loading unloading & transporation etc. 01-	
					bags weighing not less than 50 kg. including	į
18050.00 INR Eighteen Thousand & Hity Only		902.5	50 Kg	1000	H-1-2 Supply of Chemical fertilizers at store in	1.02
					unloading, transporation & stacking at site 01-	
380000.00 INR Inree Lakn Eighty Hidusalia Ciliy	380000.00	380	Cum	1000	H-1-1 Supply of dry manure including loading	1.01
The Transport Only					and TREE PLANTATION	
					(Part-A) DEVELOPMENT OF GARDENS	1
9	53	6	G	4	2	-1
	Rs. P	9.				NO.
In Words	Tayes in	DOIN Nate III	C	Quality	Telli Description	: <u>v</u>
TOTAL AMOUNT	TOTAL AMOUNT WITH TOTAL AMOUNT	RCR Rate in	l Init	Omantity	Itam Description	2
TEXT #	NUMBER #	NUMBER	TEXT #	NUMBER #	TEXT #	NUMBER #



1.04

H-1-4 Supply of Insecticides & Pesticides at store

75

Per Liter

308.75

23156.25 INR Twenty Three Thousand One Hundred & Fifty Six and Paise Twenty Five Only

transporation etc.

in dust/liquid form complete. 01-Cholorophyriphos 20 Ec.

24000.00 INR Twenty Four Thousand Only
24000.00 INR Twenty Four Thousand
712500.00 INR Seven Lakh Twelve Thousand Five Hundred



180000.00 INR One Lakh Eighty Thousand Only		1200	Each	150	06. Fish tale palm feet	1.0806
n 50		900	Each	150	05. Bottle palm 8 feet	1.0805
1		500	Each	50	04. Arica palm many branches 6 feet	1.0804
6250.00 NR Six Thousand Two Hundred & Fifty Only		125	Each	50	03. China palm 1 to 1.5 feet	1.0803
7500.00 NR Seven Thousand Five Hundred Only		150	Each	50	02. Deshi palm 2 to 3 feet	1.0802
-		350	Each	50	01. Raffish palm 2 to 2-2 feet	1.0801
					Building BSR 2019 PWD CIRCLE Sikar 1.14 Supply of different varieties of palm in poly bag /earthen pot according to height growth and age of plant at side including loading unloading and age of transpoprtation etc. complete	1.08
61000.00 INR Sixty One Thousand Only	61000.00	305	Each	200	09- Plumeria Alba 7'-8' Each multibranching	1.0709
87500.00 INR Eighty Seven Thousand Five Hundred Only	87500.00	875	Each	100	08- Tabubia rosea 7'-8' Each multibranching from 4 feet	1.0708
1	70000.00	350	Each	200	07- Polyathia longifolia Ashok Each 8'-10' multibranching from 4 feet	1.0707
_	43750.00	875	Each	50	06- Cordia Sebestena 8'-10'	1.0706
37500.00 INR Thirty Seven Thousand Five Hundred Only	37500.00	750	Each	50	05- Curesea speciosa 8'-10'	1.0705
	45000.00	450	Each	100	04- Ficus benjamina 10'-12' Each multibranching from 3 feet	1.0704
l š	90000.00	900	Each	100	03- Ficus Panda Each topiary dia 3'4'	1.0703
_	77500.00 INR	775	Each	100	02- Bahuinia blackenea 8'-10' multibranching from 4 feet	1.0702
65000.00 INR Sixty Five Thousand Only	65000.00	650	Each	100	01- Bottle brush Golden 5'-6'	1.0701
					8-16-A-3: Supply & Plantation of Ornamental trees including mortility replacement loading - unloading transportation and maintenance for 30 days after planting the plants	1.07



					8-16-A-15: Supply & Plantation of selected specimen plants size 8'-10' ht. Each crown dia 5'-6', girth 15-20 cm multibranching in 25 x 25 poly bag Including loading unloading transportation.	1.14
15000.00 INR Fifteen Thousand Only	15000.00	30	Each	500	03- Kaner Dwarf	1.1303
15000.00 INR Fifteen Thousand Only	15000.00	30	Each	500	02- Hamelia	1.1302
3000.00 INR Three Thousand Only	3000.00	30	Each	100		1.1301
					8-16-A-11: Supply & Plantation of shrubs including mortality replacement, loading - unloading transportation and maintenance for 30 days after planting the plants, size 1.5' to 2' having branching. 8-16-A-11-a	1.13
41250.00 INR Forty One Thousand Two Hundred & Fifty Only	41250.00	275	Each	150		1.12
48000.00 INR Forty Eight Thousand Only	48000.00	240	Each	200	8-16-A-9:- Supply of Euphorbia milii plant having multi branching from the Each base & grafted verities 600 mm ht. including/ unloading & transportation etc	1.11
15000.00 NR Fifteen Thousand Only	15000.00	15	Each	1000	03- Vinca Rosea in different Colors pune verity	1.1003
25000.00 INR Twenty Five Thousand Only	25000.00	25	Each	1000	02- Lilly (Spider)	1.1002
5000.00 NR Five Thousand Only	5000.00	25	Each	200	1 01- Canna 2' ht	1.1001
					8-16-A-8 :- Supply & Plantation of selected specimen plants including mortality replacement, loading - unloading transportation	1.10
18000.00 INR Eighteen Thousand Only	18000.00	12	Each	1500	02- Duranta repens dew drops	1.0902
36000.00 INR Thirty Six Thousand Only	36000.00	12	Each	3000	01- Clerodendron inermi	1.0901
1					8-16-A-5: Supply & plantation of Hedges including mortility replacement loading - unloading transportation and maintenance for 30 days after planting the plants	1.09
60000.00 INR Sixty Thousand Only	60000.00	1200	Each	50	07. T cycuss 5 feet	1.0807



1644 32 1644 16 1644 16 1644 11 1644 11 1645 11 1646 11 1666 11 1666 11 1666 11 1666 11 1666 11 1666 11 1666 11 1666 11 1666 11 166	1.1703 03- Caryota Palm 10'-12' & Foxtail Palm 10'-12' 150	9		of selected tality replacement, ion and planting the plants	200		200	upply & Plantation of Stitless ality replacement, loading - isportation and maintenance for 30 isportation and maintenance for 30	20 to 20 cit at which the 25 x 25 poly bag including loading unloading transportation.	1.15 8-16-A-16 :- Pulmeria Rubra 8'-10' height, Girth 50 Each	1.1408 05- Ficus shiela		50	OS Ariuna 100	50	Lagerstomea flos reginae,	na. Casia fistula, 200		50
500 00 00 00 00 00 00 00 00 00 00 00 00	Facn		E I	Fach	Laci	T Tac	T ac			Each	100		Each 1	Each 1	Each 16	Each 16	Each 16	Each 16	
		3500 525000.00 INR Five Lakh Twenty Five Thousand	3200 160000.00 INR One Lakh Sixty Thousand	1800 180000.00 INR One Lakh Eighty Thousand								644 82200.00 INR Eighty Two Thousand Two Hundred							



47.5
5
120000.00 INR One Lakh Twenty Thousand
ľ
28.5
250000.00 INR Two Lakh Fifty Thousand
700
150000.00 INR One Lakh Fifty Thousand



1.24 e ====================================	1.2314	1.2313	1.2312	1.2311	1.2310	1.2309	1.2308	1.2307	1.2306	1.2305	1.2304	1.2303	1.2302
H-2-1. shrubi trench of 30 c of 30 c of 30 c of 30 c of and of an	14-	13	12-	7	10	09-	08-	07-	9	05-	04	03-	02-
H-2-1-9 Preparation of beds for bedging and shrubbary by excavating 60 cms. Deep and trenching the excavated base to a further depth of 30 cms. refillingthe excavated earth after breaking clods & mixing with manure in the ratio 8 :1 (8 parts of stacked valume of earth after reduction by 20% one part of stacking valume of manure after reduction by 8% flooding with water filling with earth if necessary (cost of manure of earth to be paid for seperately).	Miscellaneous.	Singonium with Moss stick.	Drassina	Drassina	Aglonmia	Aglonmia	Song of India.	Arecca Palm.	Arecca Palm.	Daffen Bachia.	- Daffen Bachia	- Rubber plants etc	- Selective Varieties of Crotons.
4000	50	50	50	50	50	50	50	50	50	50	50	50	100
Each	Each	Each	Each	Each	Each	Each	Each	Each	Each	Each	Each	Each	Each
74.25	380	237.5	190	95	142.5	95	190	570	190	237.5	95	118.75	133
5/00.00	19000.00	11875.00	9500.00	4750.00	7125.00	4750.00	9500.00	28500.00	9500.00	11875.00	4750.00	5937.50	13300.00
SAUGLOU INK Filly Seven Housand City		1 0	9500.00 INR Nine Thousand Five Hundred Only	1 12	7125.00 INR Seven Thousand One Hundred & Twenty Five Only	4750.00 INR Four Thousand Seven Hundred & Fifty Only	9500.00 NR Nine Thousand Five Hundred Only	28500.00 INR Twenty Eight Thousand Five Hundred Only	9500.00 INR Nine Thousand Five Hundred Only	11875.00 INR Eleven Thousand Eight Hundred & Seventy Five Only	INR Four Thousand Seven Hundred & Fifty Only	5937.50 INR Five Thousand Nine Hundred & Thirty Seven and Paise Fifty Only	13300.00 INR Thirteen Inousand Inree Hundred Ciliy



15390.00 INR Fifteen Thousand Three Hundred & Ninety Only	15390.00	12000	Per 100 Pots Per day	128.25	02- H-2-1-8-b Filling and planting of sapplings and Watering of pots	2.0602
85500.00 INR Eighty Five Thousand Five Hundred Only	85500.00	3000	cum	28.5	H-2-1-8-a Mixing earth and manure inproporation as specified or directed for pots.	2.0601
1					H-2-1-8 Maintenance / fitting of permanent ornamental pots / seasonal pots.	2.06
238000.00 INR Two Lakh Thirty Eight Thousand Only	238000.00	10000000	100 sqm	2.38	H-2-1-6 Sweeping / Cleaning of Garden roads. Lawns & paths & disposal of all rubbish.	2.05
133000.00 INR One Lakh Thirty Three Thousand Only	133000.00	40000	100 sqm	332.5	H-2-1-5 Maintenance of shrubbary or Hedge cutting including disposal of rubbish with all leads & lifts.	2.04
17100.00 INR Seventeen Thousand One Hundred Only	17100.00	20	Hectare	855	H-2-1-4 Mowing manually / with power machines. 02- H-2-1-4-b With power machines	2.03
1026000.00 INR Ten Lakh Twenty Six Thousand Only	1026000.00	540000	100 sqm	190	H-2-1-3 Uprooting weeds from the lawn plots and treched area after 10 to 15 days of its flooding with including disposal of uprooted vegetation.	2.02
285000.00 INR Two Lakh Eighty Five Thousand Only	285000.00	15000	CUM	19	Maintenance of Lawns 01- H-2-1-1 Spreading of manure and good earth in required thickness (cost of cum manure and good earth to be paid separately).	2.01
					l '''	2
225000.00 INR Two Lakh Twenty Five Thousand Only	225000.00	150	reirii		1 Excavates 1 cubic meter pits for exotic ornamental fowering trees after mixing including the cost of FYM 20% vermi, compost Fertilizers, Lining of Anti Termite powder, Drenching of Anti Termite liquid and refilling	
				4500	extra good earth if needed to be paid seperately) pit dia 60 cm x60 cm deep. 8-16-E Digging of pits for specimen plants 8-16-E	1.26
					stacked valume of earth after reduction by 20% 1 parts of stacked volume of manure after reduction by 8%) flooding with water and dressing including removal of surplays parts (cost of manure).	
28500.00 INR Twenty Eight Thousand Five Hundred Only	28500.00	14.25	Each	2000	same with the excavated Each earth mixed with manure in the ratio of 2: 1 by valume (2 parts of	1.23
					2-2 - Dinging pite in ordinant pail 6 FIII	E



y	INR Zero Only				Quoted Rate in Words	Quoted
0.00 INR Zero Only	0.00		Select		Quoted Rate in Figures	Quoted
8926988.75 INR Eighty Nine Lakh Twenty Six Thousand Nine Hundred & Eighty Eight and Paise Seventy Five Only	8926988.75				Total in Figures	Total in
226800.00 NR Two Lakn Twenty Six Thousand Eight Hundred Only	226800.00	1008	Per day	225	2.11 Building BSR 2019 PWD CIRCLE Sikar L-32 Payment of Labour for water Sprayer	2.1
					maintenance contractor has to replace same height plant at his own cost.	
					Thavala Hoeing weeeding etc & application of insecticieds etc. & security if the plant die during	
Forty Only			Month	;	including of pits/bids watering preparation of	
365940.00 INR Three Lakh Sixty Five Thousand Nine Hundred &	365940.00	38520	Per Plant Per	9.5	stones & galuage	3
					removing of unwanted shurbs removal of	
	4,00.00	5000	rer 100 sqm	95	2.09 Maintenance of Roads Side Plantation 01- H-4: 1-A Preparation of soil including cleaning &	2.00
A750 no INIP Equit Thousand Seven Hundred & Fifty Only	7750 00				1	
172800.00 INR One Lakh Seventy Two Thousand Eight Hundred	172800.00	360000	Sqm	0.48	2.08 H-2-5 Prefaration of Editing cutting lawn.	2.08
						!
5700.00 INR Five Thousand Seven Hundred Only	5700.00	2000	100 sqm	285		2.07
			Per day		Colouring of pots. material will be supplied by the Department	
15390.00 NR Fifteen Thousand Three Hundred & Ninety Only	15390.00	12000	Per 100 Pots	128.25	0603 03- H-2-1-8-c Weding Hoeing Stacking &	2.0603

Registrar
Pandit Deendayal Upadhyay
Shekhawati University, Sikar